
 

No. Geometry Formulas   

1.  Square:     
Area:                                                                       
Perimeter: 

 

𝐴 = 𝑠2 
𝑃 = 4𝑠  

 
𝑠 = 𝑠𝑖𝑑𝑒 𝑜𝑓 𝑡ℎ𝑒 𝑠𝑞𝑢𝑎𝑟𝑒       
𝑠 = 𝑠𝑖𝑑𝑒 𝑜𝑓 𝑡ℎ𝑒 𝑠𝑞𝑢𝑎𝑟𝑒                                                 

2.  Rectangle:  
Area:                                                                       
Perimeter:                                   

 
𝐴 = 𝑙𝑤                     
𝑃 = 2𝑙 + 2𝑤 

 
𝑙 = 𝑙𝑒𝑛𝑔𝑡ℎ       𝑤 = 𝑤𝑖𝑑𝑡ℎ   
𝑙 = 𝑙𝑒𝑛𝑔𝑡ℎ       𝑤 = 𝑤𝑖𝑑𝑡ℎ                               

3.  Rectanglular Solid:  
Volume: 
Surface Area:                                   

 
𝑉 = 𝑙𝑤ℎ                     

𝐴 = 2ℎ𝑤 + 2𝑙𝑤 + 2𝑙ℎ 

 
𝑙 = 𝑙𝑒𝑛𝑔𝑡ℎ    
𝑤 = 𝑤𝑖𝑑𝑡ℎ       
ℎ = ℎ𝑒𝑖𝑔ℎ𝑡      
 

4.  Cube  
Volume: 
Surface Area:                                   

 
𝑉 = 𝑒3                     

𝐴 = 6𝑒2 

 
𝑒 = 𝑠𝑖𝑑𝑒    
   
   

5.  Triangle:     
Area:                                                                       
Perimeter 
 

  

𝐴 =
1

2
 𝑏ℎ                  

 𝑃 = 𝑎 + 𝑏 + 𝑐 

 
𝑏 = 𝑏𝑎𝑠𝑒       ℎ = ℎ𝑒𝑖𝑔ℎ𝑡   
𝑎, 𝑏, 𝑐 = 𝑠𝑖𝑑𝑒𝑠                                

6.  Right Triangle:  
Pythogorean Theorem: 
 

 
𝑐2 = 𝑎2 + 𝑏2  

𝑐 = √𝑎 + 𝑏            

 
𝑐 = ℎ𝑦𝑝𝑜𝑡𝑒𝑛𝑢𝑠         
𝑎 = 𝑙𝑒𝑔       
𝑏 = 𝑙𝑒𝑔      
 

7.  Parallelogram: 
Area:                                                                       
Perimeter    
 

            
𝐴 = 𝑏ℎ                     
𝑃 = 2𝑎 + 2𝑏  
 

 
𝑏 = 𝑏𝑎𝑠𝑒       ℎ = ℎ𝑒𝑖𝑔ℎ𝑡   
𝑎, 𝑏 = 𝑠𝑖𝑑𝑒𝑠      
                          

8.  Trapezoid: 
Area:                                                                       
Perimeter 
 

 

 𝐴 =
1

2
(𝑏 + 𝐵)ℎ                      

𝑃 = 𝑎 + 𝑏 + 𝑐 + 𝐵 

 
𝑏 = 𝑠ℎ𝑜𝑟𝑡 𝑠𝑖𝑑𝑒        
𝐵 = 𝑙𝑜𝑛𝑔 𝑠𝑖𝑑𝑒 
ℎ = ℎ𝑒𝑖𝑔ℎ𝑡 
𝑎, 𝑏, 𝑐, 𝐵 = 𝑠𝑖𝑑𝑒𝑠                                

9.  Circle: 
Area:                                                                       
Circumference:   

  
𝐴 = 𝜋𝑟2 
𝐶 = 2𝜋𝑟 

 
𝜋 = 𝑝𝑖𝑒       
𝑟 = 𝑟𝑎𝑑𝑖𝑢𝑠 
 

10.  Sphere: 
Volume: 
Surface Area:                                   

 

𝑉 =
4

3
𝜋𝑟3                     

𝑆 = 4𝜋𝑟2 

 
𝜋 = 𝑝𝑖𝑒       
𝑟 = 𝑟𝑎𝑑𝑖𝑢𝑠 
      
 

 

 


